DOWNLOAD SOLVED FINAL

PAST PAPERS BY WAQAR SIDDHU

More in PDF From

VU Answer
Get All Solutions.



|Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

While managing the historical data, we should consider the following except

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Data should be collected only from scientific projects and applications

p

Data should be collected from many projects

Data should be consistent

Correct data should be taken

i YNade by: Y/aqar Siddhe




|Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) El

If an error related to requirements 1s identified in testing phase, so this error will be considered as an error i

“~

phase.

Answer ( Please select your correct option )

p

Design

Code

Requirement

Testing

ans

YNade by: Yy aqar Siddhu
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“~

Defect Remowval Efficiency can be increased by

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

By increasing the team member in a team

p

Identifying the defect in early stages of development so that it may not be amplified

dns

Identifinng the detect in the later stages of project

By performing the testing activity only

i YNade by: Y/aqar Siddhe
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“~

When a software 1s delivered to a client and then client reports the bug in it then that bug 1s termed as

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Etror

p

Defect

Mistake

Fault

i YNade by: Y/aqar Siddhe
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“~

Following are effective guidelines for Review except

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

We need to rewiew the product not the producer

p

Be sensitive to personal egos

Errors should be pomnted out gently

Tone should be high and strict

’ ans YNade by: Yy/aqar Siddhe




|Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) El

MTTF 15 the abbrewation of

“~

Answer ( Please select your correct option )

p

Moderate time to falure

Mean time to forward

Mean time to fatlure

dns

Median time to fatllure
Moderate time to fatlure
Median time to fatlure
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“~

Software Avalability can be calculated by the following equation:

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Availability = QLTTRAMTTE) % 100

p

Availability = QLTRBEAMTTR) x 100

Availability = QLTTFAMTBE) x 100

ans
Availability = QLTBEMMTTE) x 100

i YNade by: Y/aqar Siddhe




|Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

Poka Yoke is the name of a =

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Japanese dish

p

QA technique

dans

Idiom
| Idiom

None of the given

i YNade by: Y/aqar Siddhe
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“~

The -----mmmmmmmee- systemn prowvides a common value scale for every software task, regardless of the type of work being performed.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

SCM

p

CM

All of the given

Earned value

i Anec ONade by: YWaqgar Siddhe
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“~

Quality has a direct and mdirect cost in the form of cost of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Prevention, appraisal, and falure

p

People, process, and product
@

Customers, developers, and maintenance
F

All of the given options

i YNade by: Y/aqar Siddhe
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“~

In a team 1s structured along a traditional hierarchy of authonty.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Closed paradigm

p

alnsS

Synchronous paradigm

Random paradigm

Open paradigm

i YNade by: Y/aqar Siddhe
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“~

15 data that mfluences an elementary process of the application being counted.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Elementary Process

p

External Query

External Output

Control Information

i Anc YNade by: YYaqar Siddhe
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“~

If an expenienced user has to take an extensive traming of software before use and hefshe still finds difficulty to use it, we can say there may be 1ssues related to the

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Usability

p

aAS

Portability

Correctness

Reliability

i YNade by: Y/aqar Siddhe




|Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

In measunng Software Process Quality by using control charts, if the gap between the defects reported and defects fixed 1s increasing, then it means:

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

The product 1s in unstable condition.
ans

p

The product 15 1n stable condition.

The product 15 ready for shipment.

None of the given.

i YNade by: Y/aqar Siddhe




|Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

Two tools for computing critical path and project completion times from actiwity networks are

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

CPM and PERT

p

dNns

DRE and SQA

FP and LOC

ASD and BSD

i YNade by: Y/aqar Siddhe




|Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min) El

Timeline chart 1s also known as the

“~

Answer ( Please select your correct option )

p

Gantt

dans
PERT
FREE LANCE

None of the given options

YNade by: Yy aqar Siddhu



|Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min) El

The purpose of earned value analysis 1s to:

“~

Answer ( Please select your correct option )

p

Determine how to compensate developers based on their productivity

Prowide a quantitative means of assessing software project progress

dans

Prowide a qualitative means of assessing software project progress

oet the price pomnt for a software product based on development effort

YNade by: Yy aqar Siddhu



|Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

Mean Time To Repair (MTTR) is the =

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Time when system remamned unable for usage

p

Time taken to fix the error

Time taken to repair the software

ans
o YNade by: Y/aqar Siddhe




|Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Although there 15 no industry standard for Release Numbenng, typically, a field compound number 1s used

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

1

p

ans
i YNade by: Y/aqar Siddhe




|Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) Ell

F

Change Request 15 submitted by the

nooo idea ,
Answer ( Please select your correct option ) W I

Tester

p

Developer

Client

None of the given options

i YNade by: Yy/aqar Siddhe
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“~

The management of creeping requirements 1s important for the ease of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Mamntenance

p

Development

Testing

All of the given options

i ane ONade by: YWaqgar Siddhe
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“~

The root cause(s) of project failure 1s/are

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Lack of user mput
P
Incomplete requirement and specification
&
Creeping requirement
~
All of the given options
« a
YNade by: Yy/aqar Siddhe
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“~

Requirement management consists of the phase(s)

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Requirement elicitation

p

Requirement organization

Requirement documentation

All of the given options

’ ans YNade by: Yy/aqar Siddhu




|Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Min) El

The goal of software development is to develop

software, on time and on budget.

“~

Answer ( Please select your correct option )

p

Budgeted

User frendly

Complete

Quality

aANs

YNade by: Yy aqar Siddhu



|Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

While assessing a legacy system for further decision, one should decide the following about the suppler

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Is supplier still in existence?

p

Is supplier still in business?

Is supplier can prowide support?

All of the given options

i ans OYade by: Y/aqar Siddhe
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“~

requires application of SE pninciples, methods, and concepts to re-create an existing application.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Reverse Engineering

p

Business Engmeenng

Business Process Engineenng

Forward Engmeering

i ans ONade by: YWaqgar Siddhe




|Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)  |=J]

15 a bad smell when a change requires lots of little changes in a lot of different classes.

“~

Answer ( Please select your correct option )

r

Shott gun surgery

Debugging

Large class

Lazy class

YNade by: Yy aqar Siddhu



|Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

If yvou find the code such that one type of change requires changing one subset of method, another type of change requires changing another subset then it 15 a symptom of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Divergent change
P
ans

Duplicated code

Large class

Lazy class

i YNade by: Y/aqar Siddhe




|Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) El

With a complex class you have to move data and methods around in small pieces to avoid errors, it seems slow butitisthe .................... because you avoid debugging

“~

Answer ( Please select your correct option )

p

Quickest

dNns

Problem

None of the given options

Slowest

YNade by: Yy aqar Siddhu



|Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

Level 1s the highest capability level of CIvilI =

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

6

p

i YNade by: Y/aqar Siddhe
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“~

Level 15 the lowest capability level of CIMIMI in Continuous representation

Anoecr§ Flaste Soioe yods coroet apten | VuAnswers.com

1

r

) YNade by: YY/aqar Siddhe




|Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The processes at of CIWIM focus on continually improving process performance through both mcremental and imnovative technological changes/improvements.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Level 5

p

aAS

Level 1

Level 4

Lewvel 3

i YNade by: Y/aqar Siddhe
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“~

Quantitative process-improvement objectives for the organization are established, continually rewised to reflect changing business objectives at Clvilvi

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Level 3

p

Level 2

Lewvel 5

dans
o YNade by: Y/aqar Siddhe




|Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

There are many reasons for which the legacy system become difficult to mantamn EXCEPT

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

No documentation 1s available

p

dNns

Language i which system was developed has become obsolete

Lack of consistency as different parts of the system have been developed by different teams

None of the given options

i YNade by: Y/aqar Siddhe




|Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) El

“Qualitative feedback from the process for continuous process improvement” refers to of Chvili =

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Repeatable

p

Defined

Managed

Otz

i YNade by: Y/aqar Siddhe
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Marks: 1 (Budgeted Time 1 Min) El

In order to use the data for estimation and drawing conclusions, it must be

“~

Answer ( Please select your correct option )

p

Stabilized

Processed

Filtered

Base-lined

aAaNs

YNade by: Yy aqar Siddhu



|Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

In context of mdiwnidual control charts, if a single metnics value lies outside UNPL, it means that process is:

Anoecr§ Flaste Soioe yods coroet apten | VuAnswers.com

Within the control

r

Out of the control

Normalized

Not normalized

) YNade by: YY/aqar Siddhe
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“~

Degree of uncertainty that the product will meet its requirements and be fit for its mtended use 1s called

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Performance risk

p

S

Cost nisk

support risk

Schedule nisk

i YNade by: Y/aqar Siddhe




|Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

In the potential for new technology or new business idea 1s explored.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Concept proofing project
P

Concept inplementation project
&

Concept development project
F

ans

Concept scoping project

i YNade by: Y/aqar Siddhe




|Question No : 40 of 52

Marks: 1 (Budgeted Time 1 Min) El

In context of function point analysis, EI stands for

“~

Answer ( Please select your correct option )

p

Export nput

Expert mput

External nline

External input

dns

YNade by: Yy aqar Siddhu



Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

If an error related to requirements 1s identified i testing phase, so this error will be considered as an error in phase.

Answer ( Please select your correct option ) mem

Design
~

Code
~

Testing

YNade by: YWaqar Siddhu




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

Defect Removal Efficiency can be increased by

Answer ( Please select your correct option ) mwm

By increasing the team member in a team
p

Identifying the defect in early stages of development so that it may not be amplfied

Identifinng the detect i the later stages of project

By performing the testing activity only

YNade by: YWaqar Siddhu




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

While developing the software if the bug 1s caught then it 15 termed as

An ease S our correct option ) mem

Error

Defect

Fault

Mistalke

YNade by: YWaqar Siddhu




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

When a software 15 delivered to a client and then client reports the bug in it then that bug 1s termed as

Answer ( Please select your correct option ) mwm

Error
~

Mistake

Fault

YNade by: YWaqgar Siddhu




Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min)

MTTF is the abbrewiation of

Answer ( Please select your correct option )

Moderate time to falure
~

Mean time to forward

Mean time to fatllure

Median time to fallure
" | Moderate time to falure
Median time to failure

YNade by: YWaqgar Siddhu




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

software Avalability can be calculated by the following equation:

Answer ( Please select your correct option ) mem

Availability = QITTRALTTE) x 100
-~

Availability = QITBFAMTTR) x 100

Avatlability = MMTTF/TBE) x 100

Availability = QMTBEAMTTE) 100

YNade by: YWaqgar Siddhu




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

The projects are classified into following categones except

Answer ( Please select your correct option ) mem

Concept development projects
-~

New application development

Reengineenng projects

Marketing Development Projects

YNade by: YWaqar Siddhu




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min)

Any delay in path makes the whole project delayed.

Answer ( Please select your correct option )

p

Critical

Physical

Logical

Neural

YNade by: YWaqar Siddhu




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

The —=-mmmmmmemeeeeee system prowvides a common value scale for every software task, regardless of the type of work being performed.

Answer ( Please select your correct option ) mem

SCM

p

CM

All of the given

Earned value

YNade by: YWaqar Siddhu




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

Rewiew 15 a type of that helps preventing the bugs to move in the next stage of software development

Answer ( Please select your correct option ) mem

Bug seeding tool
~

Alarm

None of the given

YNade by: YWaqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

Quality has a direct and indirect cost in the form of cost of

Answ - VUANSwWers.com

Prevention, appratsal, and falure

People, process, and product

F

Customers, developers, and mamntenance
F

All of the given options
p

YNade by: YWaqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

A 15 a unique user recognizable, non-repeated feld.

Answer ( Please select your correct option ) mwm

Record Element Type
~

Data Element Type

External Input

External Query

YNade by: YWaqar Siddhu




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)

In measuring Software Process Quality by using control charts, if the gap between the defects reported and defects fixed 1s increasing, then it means:

ease select your correct option

The product 1s in unstable condition.

The product 15 1n stable condition.

The product 1s ready for shipment.

None of the given.

YNade by: YWaqar Siddhu




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

Risk Analysis and management mvolves addressing the following concerns except:

Answer ( Please select your correct option ) mwm

What change might cause the nisk to strike 7

What thing may go wrong m future 7

& | "What can happen if the web mterface of the company’ s website will change 7
s

What 15 the nature of software domain 7

YNade by: YWaqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

Two tools for computing cntical path and project completion times from actiwity networks are

DRE and SQA

FP and LOC

ASD and BSD

YNade by: YWaqar Siddhu




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

We can include following items during configuration temn 1dentification:

User Manuals and Documentations

Source Code

("

Software Requirement Specifications
-

All of the given options
~

YNade by: YWaqar Siddhu




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

Although there 1s no mdustry standard for Release Numbenng, typically, a field compound number 1s used

Answer ( Please select your correct option ) mem

1
~

YNade by: YWaqar Siddhu




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)

Change Eequest 15 submitted by the

Answer ( Please select your correct option )

Tester
F

Developer

Client

None of the given options

YNade by: YWaqgar Siddhu




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

The management of creeping requirements 1s important for the ease of

Answer ( Please select your correct option ) Wmm

Maintenance
F

Development

Testing

All of the given options

YNade by: YWaqgar Siddhu




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

Requirement management consists of the phase(s)

Answer ( Please select your correct option ) mwm

Requirement elicitation
F

Requirement organization

Requirement documentation

All of the given options

YNade by: YWaqgar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

While assessing a legacy system for further decision, one should decide the following about the supplier

Answer ( Please select your correct option ) mem

Is supplier still i existence?
F

Is supplier still i business?

Is supplier can prowvide support?

All of the given options

YNade by: YWaqgar Siddhu




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Following factors should be considered while assessing the legacy system except

Answer ( Please select your correct option ) mem

Age of hardware and software

~
Falure rate
r!
support requirement
~

— . .
Jone of the given options

YNade by: YWaqgar Siddhu



Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

1s the process of Design recovery. At this stage the documentation of the overall functionality 1s created.

Answer ( Please select your correct option ) mwm

Database Engineering
~

Reverse Engmeenng

Refactoring

Forward Engineering

YNade by: YWaqgar Siddhu




Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Min)

The need for business process re-engineerng arrives because the

Answer

Way to conduct business changes

Income of the company increases

ri

Company want to become popular
~

Way of programming changes with tine
~

YNade by: YWaqgar Siddhu




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

If vou find the code such that one type of change requires changing one subset of method, another type of change requires changing another subset then it 15 a symptom of

Answ: r correct option ) mwm

Divergent change

Duplicated code

Large class

Lazy class

YNade by: YWaqgar Siddhu




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)

With a complex class you have to move data and methods around i small pieces to avoid errors, it seems slow butitisthe ................... . because you avoid debugging

Answer ( Please select your correct option ) mwm

Problem

None of the given options

Slowest

YNade by: YWaqgar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)

mntegrates system and software disciplines into single process improvement framework for mtroducing new disciplines as needs arise.

Answer ( Please select your correct option ) mwm

ol Y ade by: Yyaqar Siddhe




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

Lewel 15 the highest capability level of CIIVI

Answer ( Please select your correct option ) mwm

6
~

YNade by: YWaqgar Siddhu




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

Lewel 1s the lowest capability level of CIWIMI i Continuous representation

Answer ( Please select your correct option ) mwm

1
~

YNade by: YWaqgar Siddhu




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

The processes at of CIM focus on continually improving process performance through both mcremental and imnovative technological changes/improvements.

Answe your correct option ) mwm

Level 5

Lewvel 1

Level 4

Level 3

YNade by: YWaqgar Siddhu




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

Quantitative process-tmprovement objectives for the organization are established, continually rewvised to reflect changing business objectives at Chvilvi

Answer ( Please select your correct option ) mwm

Level 3
~

Level 2

Level 1

YNade by: YWaqgar Siddhu




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

Following are the components of a Legacy system except:

Answer ( Please select your correct option ) mwm

Business processes
F

oystem hardware

Marketing

Application software

YNade by: YWaqgar Siddhu




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

In which stage of software development loop, we try to find the solution of the problem on technical grounds and base our actual implementation on it.

An se select your lon ) mwm

Technical Development

Technical Design

Implementation

Testing

YNade by: YWaqgar Siddhu




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following is not one of the charactenistics to descnbe a KPAY

An correct option ) mwm

Resources

Goals

BActivities

Commitments

YNade by: YWaqgar Siddhu




Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min)

optral Model was first proposed by

Answer ( Please select your correct option )

McCabe
~

Barry Boehm

Robert Cazeman

William Strith

YNade by: YWaqgar Siddhu




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following 1s NOT one of the 5 steps defined by Eeel to improve the chances of success?

Answer ( Please select your correct option ) Wrmm

Start on the night foot

~

Mantain momentum

Make smart decisions

Optimize Product page 35
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

software project management primanly deals with metrics related to:

Answer ( Please select your correct option ) mwm

Development process
~

Defects

Availability
~

Productinty and quality
-

YNade by: YWaqgar Siddhu




Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min)

In context of degree of nigor, TS5 stands for:

Answer ( Please select your correct option ) mwm

Task set selector

Tasks set in schedule

Time set selector

Time set in schedule

YNade by: YWaqgar Siddhu




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min)

In the potential for new technology or new business idea 15 explored.

Answer ( Please select your correct option ) mwm

Concept proofing project

~

Concept inplementation project

Concept development project

Concept scoping project

YNade by: YWaqgar Siddhu




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

When more than one users interpret the same requirement in different ways then we can say that the requirement 1s:

Answer ( Please select your correct option ) mwm

Tnambiguous
~

Incomplete

Incorrect

Ambiguous

YNade by: YWaqgar Siddhu




|Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

15 a document driven model because a set of documents 1s produced at each level of the model.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Waterfall model

2 correct

Rapid Prototyping Model

Incremental MModel

None of the given

i YNade by: Y/aqar Siddhe




|Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Defect Remowval Efficiency can be increased by

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Identifying the defect in early stages of development so that it may not be amplified
c correct

Identifying the detect i the later stages of project

By performing the testing activity only

By increasing the team member in a team

i YNade by: Y/aqar Siddhe




|Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

When a software 1s delivered to a client and then client reports the bug in it then that bug 1s termed as

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Etror

p

Defect
correct

Mistake

Fault

i YNade by: Y/aqar Siddhe




|Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) El

Poka Yoke 1s the name of a

“~

Answer ( Please select your correct option )

p

Japanese dish

QA technique

correct

Idiom
Idiom

None of the given

YNade by: Yy aqar Siddhu



|Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The spiral model of software development

Anoecr§ Flaste Soioe yods coroet apten | VuAnswers.com

Ends with the delivery of the software product

r

Is more chaotic than the incremental model

Includes project risks evaluation during each iteration

All of the given

) YNade by: YY/aqar Siddhe




|Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Any delay i path makes the whole project delayed.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Logical

p

Neural

Critical
correct

Physical

i YNade by: Y/aqar Siddhe




|Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Quality has a direct and mdirect cost in the form of cost of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

All of the given options

p

Prevention, appraisal, and fallure

C correct

People, process, and product

Customers, developers, and mamtenance

i YNade by: Y/aqar Siddhe




|Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

A 15 a unique user recognizable, non-repeated feld.

DET Definition
A data element type is a unique user recognizable, non-repeated field.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Record Element Type

p

Data Element Type
correct

External Input

External Query

i YNade by: Y/aqar Siddhe




|Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Although there are many different models developed by different researchers for estimation, all of them share which one of the following basic structure

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

E=32®LOC)1.05

p

E=4A+B * (ev)C
correct

E=[LOC x B0.333/P]  (1/t4)

None of the given

i YNade by: Y/aqar Siddhe




|Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

Two tools for computing critical path and project completion times from actiwity networks are

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

CPM and PERT

2 correct

DRE and SQA

FP and LOC

ASD and BSD

i YNade by: Y/aqar Siddhe




|Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) El

Timeline chart 1s also known as the

chart

“~

Answer ( Please select your correct option )

Gantt
p

correct

PERT

FREE LANCE

None of the given options

YNade by: Yy aqar Siddhu



|Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The purpose of earned value analysis 1s to:

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Determine how to compensate developers based on their productivity

p

Prowide a quantitative means of assessing software project progress

correct

Prowide a qualitative means of assessing software project progress

oet the price pomnt for a software product based on development effort

i YNade by: Y/aqar Siddhe




|Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Which of the following 1s/are implicit requirement(s) of software?

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Ease of use
© correct
Efficiency .
C not mention
IMaintamability
~
correct
All of the given options
@ -3
YNade by: Y/aqgar Siddhe




|Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

A key concept of quality control 1s that all work products:

Note: Select most appropriate.

no idea

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Are delivered on tine and under budget

p

Have complete documentation

Have measurable specifications for process outputs

Are thoroughly tested before delivery to the customer

i YNade by: Y/aqar Siddhe




|Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) El

Mean Time To Repair (MTTR) is the =

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Time taken to fixz the error

p

Time taken to repair the software
correct

All of the given options

Time when system remained unable for usage

i YNade by: Y/aqar Siddhe




|Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

Poka Yoke 1s Japanese term and it means

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Mistake Proofing

0 correct

otake Handling

Resource Scheduling

Time Allocation

i YNade by: Y/aqar Siddhe




|Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

software configuration management 1s used to

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Manage change in the software

2 correct

MMange the financials accounts i an organization

MManage the administration of company

All of the given options

i YNade by: Y/aqar Siddhe




|Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

We can include following items dunng configuration item identification:

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

User Manuals and Documentations

p

Source Code

software Requirement Specifications

All of the given options

c correct m“de by: W“‘]ﬂ' &id‘“ﬂl




|Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J|

F

Change Request 15 submitted by the

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Tester

p

Developer

Client
O correct

None of the given options

i YNade by: Y/aqar Siddhe




|Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The management of creeping requirements 1s important for the ease of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Mamntenance

p

Development

Testing

All of the given options

2 correct m“de by: Wunl' &id‘“ﬂl




|Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

Requirement management consists of the phase(s)

nai pta

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Requirement elicitation

p

Requirement organization

Requirement documentation

All of the given options

i YNade by: Y/aqar Siddhe




|Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The goal of software development is to develop ---------- software, on time and on budget.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Quality

-
correct

Budgeted

User fendly

Complete

i YNade by: Y/aqar Siddhe




|Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

While assessing a legacy system for further decision, one should decide the following about the suppler

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Is supplier still in existence?

p

Is supplier still in business?

Is supplier can prowide support?

All of the given options

c correct m“de by: WGO]GI' \Siddbﬂ




|Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Min) El

Follownng factors should be considered while assessing the legacy system except

“~

Answer ( Please select your correct option )

p

Age of hardware and software

Falure rate

support requirement

None of the given options

correct m“de b!': Wuqur &id‘"ﬂl




|Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

15 the process of Design recovery. At this stage the documentation of the overall functionality 1s created.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Database Engmeering

p

Reverse Engmeenng

correct

Refactoring

Forward Engmeering

i YNade by: Y/aqar Siddhe




|Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

requires application of SE pninciples, methods, and concepts to re-create an existing application.

Forward engineering requires application of SE
principles, methods, and concepts to re-create an existing application.

fnsecnl Flomse 851601 your conoe aptan | VuAnswers.com

Reverse Engineering

p

Business Engmeenng

Business Process Engineenng

Forward Engmeering

£ correct m“de by: Wunl' \Siddbﬂ




|Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

The need for business process re-engmeering arrives because the

out of course

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Way to conduct business changes

p

Income of the company increases
&

Company want to become popular
F

Way of programming changes with time

i YNade by: Y/aqar Siddhe




|Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min) El

15 a bad smell when a change requires lots of little changes in a lot of different classes.

“~

Answer ( Please select your correct option )

p

Shott gun surgery

correct

Debugging

Large class

Lazy class

YNade by: Yy aqar Siddhu



|Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

If yvou find the code such that one type of change requires changing one subset of method, another type of change requires changing another subset then it 15 a symptom of

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Divergent change
O correct

Duplicated code

Large class

Lazy class

i YNade by: Y/aqar Siddhe




|Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

With a complex class you have to move data and methods around in small pieces to avoid errors, it seems slow butitisthe .................... because you avoid debugging

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Problem

p

None of the given options

Slowest

Quickest

& correct mude by: WQqul' &iddbﬂ




|Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]
Level 1s the highest capability level of CIvilI =
out of course s
Answer ( Please select your correct option ) W I
1
~
0
@
5
e correct not 100%
6
« a
YNade by: Y/aqgar Siddhe




|Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Level 15 the lowest capability level of CIMIMI in Continuous representation

out of course

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

5

p

i COrre Mude by: Wuqur &id‘“ﬂl




|Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Quantitative process-improvement objectives for the organization are established, continually rewised to reflect changing business objectives at Clvilvi

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Level 3

p

Level 2

Level 5
correct

Level 1

i YNade by: Y/aqar Siddhe




|Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Following are the components of a Legacy system except:

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Business processes

p

System hardware

Marketing
correct

Application software

i YNade by: Y/aqar Siddhe




|Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) El

Which of the following 1s NOT one of the components of software engmneenng framework?

“~

Answer ( Please select your correct option )

p

Quality focus

Methods

Tools

Design

correct

YNade by: Yy aqar Siddhu



|Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Project management 1s intensive activity

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

People

2 correct

Product

Process

Resource

i YNade by: Y/aqar Siddhe




|Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

According to Kraul and Steeter, “Email” 15 an example of project coordination technigue.

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Formal, impersonal

p

Formal, mterpersonal

Electronic communication

Interpersonal networking

c correct m“de by: W“‘]ﬂ' &id‘“ﬂl




|Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

In order to use the data for estimation and drawing conclusions, it must be

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Filtered

p

Base-lined
correct

Stabilized

Processed

i YNade by: Y/aqar Siddhe




|Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) El

“~

In context of function point analysis, EQ stands for:

not sure
Answer ( Please select your correct option ) W
External Quotation
P
External Inquiry
2 correct
External Quality
~
External Interface
« a
YNade by: Y/aqgar Siddhe




|Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)  |=J]

“~

Risk mitigation mnvolves

cheking require .

fnsecnl Flomse 891601 your sorodt apten | VuAnswers.com

Reducing the impact of risk
O correct

Reducing the risk management plan

Redesigning the contingency plan

Performing the nsk analysis again

i YNade by: Y/aqar Siddhe




|Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) (=]

“~

Identify the "Staged CIMIM" from the following list.

a) software CIvl
b) System Engmeering Chvild
c) IPD-Chl

Answer ( Please click here to Add Answer ) Vu'An'SW'ePS—GQm
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|Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min) (=]

“~

Discuss the term " Compartmentalization" in context of a realistic schedule.

Answer ( Please click here to Add Answer ) Vu_An_SW-e_ps__cgm
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Marks: 2 (Budgeted Time 4 Min) I3|

“~

|Question No : 43 of 52

When a system will be called a “Lagacy system™7

Answer ( Please click here to Add Answer )
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